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He became aware of the reaping and grinding in which he was
unaware of the Shabbos but aware the work is prohibited

Overview

X271 made the following ruling; one was reaping and harvesting on naw,
unaware that it was Shabbos, but he knew that 71°1v1 77°%p are 70X on naw,!
and then he was MY 7XP again, this time knowing that it was Shabbos, but
forgot that 7nwY 77°¥p are MOX on Naw.? Later he first became aware of the
7nwY 7% which he did noRS2 170 naw nawa and then afterwards he
became aware of the 71nv 77°%p which he did MaRS2 Ny naw N1, the
rule is the first 77°%p drags along with it (n7713) the second 77°Xp and the first
711w is N7 the second 73mw, so he is obligated to being only one 727p
nxun.> However if he first became aware of the second 77°%p only (the 77%p
of oK% naw) and then later he became aware of the first 7onw 7%p (of
naw naw) and the second 73°mw (of 7oX%7 Naw), he can bring one 1277 for the
second 7% and the first set of naw nawa arnw 77°¥p,* however he must
bring a second 1277 for the last 72710 of 71287 nAw.’

- 71297 W99 1Y IV SONMIY 19929 WD
The w'"" explained that he became aware (of the naw nxaw 5w nrnw 77°%p

! For these two transgressions alone he would be 211 only one nXvr 127p, since there was only one 09w
(one forgetfulness), the 07v1 of Naw naw.
2 For these two transgression by themselves he would be liable for two nXun miaap, since there were two
Minbyi the 0% of 78R and the o5 of nanv.
3 There was no nv°7 (knowledge of a transgression) between the first set of 71°n0 77°%p (which was done
NIRYA 17N N2w Naawa) and the second set of 7mvY 77°%p (which was done NMaR?» NAWY NAw 11712), so they
are considered as one 0%y, the rule is if that someone transgressed one 77°2¥ many times 71X 2%¥713, he is
liable for only one j27p. See 77°%p 1"7 X,XY *"wA. Therefore since the two M7°Xp were done X 0712 as
well as the two mny, so respectively there is only one nXvr 2vn for each 77°%¥p and each 71nv; in addition
since there is only one nXun 211 for the first set of 71nwY 77°%pP and each one of them drags along the
respective second set of 71w 77°¢p, there is only one nRwvn 217,
4 The nrmv1 771°%p of Naw naw are one nNXun and since the 7P of NAw naw was done TR a%wna with the
77°%p of 79891 N, the NXVA for 7oKR?M NAAWA 78R is M the 7% of Naw naw together with its 71mw of
NaWw NAY.
5> This is a separate 79871 N2w which cannot be included in a 127p for a different 7oX7% Naw, namely T3P,
¢ Presumably this is the 2"2wA (see w"X77 N1oOMN) however from *» YW Naw it appears that this is the X"aw.
See naw (Fv) a7 >"wA, who (also) writes, nxon w9 (see W7 Moo who cites *"w1 [in the beginning]).
7 The first set requires only one NXvr 1277, since it was Naw Naw3; only one a7v7. See ‘Appendix’.
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MRS N1) and he set aside one nXwvn 327 for it -
= MANDN NNV HY NNV NEPN Y IY Y193 9N 199,V ONPY

However before he was atoned, he again realized he second set of 793P

7omY of MISRDR NAMY, nevertheless the one nXwn suffices -
= MMNVN INY PP2298Y 129953 1PX NI991 NN TY 1D Y113 XY ON DaN

However if he did not become aware of the second set of 110V 77%p
naw NN NOKRY nawa, until after the 7995; the second set is not 9931 after

the first set, and two additional nXwr N1127p are required -
- $nPYNN N995 NnbyY 9aYT

For all agree that the 199> separates the different transgressions.
- 1299 Y9N NY ON YN 129P W¥II91 NPNDN

And this is only if he set aside a 3299 (after he became aware of the first set

of 7111 77°¥pP), however if he did not set aside a 3399 after he became aware

of the first 7m0 77%P -
= INYY NN N2 TMINDIN MY DY NNV N8P DY IT YT 9T

And later he also became of the second mvmwy a99%p which was done

MORS» naswa, he can bring a 1277 on whichever set he desires -
- DAY NIV JY HNNX NRLVN YD NN DX RNYIN NIIN 1327

It all depends on him; if he so desires he can bring one nXwr 1277 for the

DAY NAM (of the first 71°mwY 77°%p set) -
= 107950y MAININ MY HY 199990

And the 7°101 77°%p of Max®» naaw will be 2ma1 with it; he will not need to

bring separate n127p for the second set -
= MANDN NNY HY NNV N8P DY MIA9P /3 W92 1Y ON IN

Or it he wants he can set aside two nu29p for the 7397wy 7998p of naaw

NIOR5M -
= NAY NNV HY 1D0Y 1990

8 If a person transgressed W3 the same 77172y (which requires a nXvn) twice TR 27vn2 (he was not aware
in between the two M7°2y that he did it once), and then he became aware of both M2y, all agree that he is
21 only one nXvn 329p. There is a dispute later on 2,8y between w>p% w> 1M " in a case where one ate
two IR 09vn2 251 °n°1, and then he became aware of the first 2%n, and afterwards he became aware of the
second 29m; there was a 0»nra av>7, so according to > he is 2»1 two mwvn (because NPon Nw>7) and
according to 2" he is 211 one nxvn. There is a discussion whether "1 "1 have the same dispute regarding
mponn mwoon (if he merely separated a nXvn 1277, but did not offer it yet). However all agree that if he
became aware of the first 271 and brought the 127p (he was 192n3), he is required to bring a second 1277
where he realizes the second 2511 (for np?m 7193). [If there was a 737> between the first transgression and
the second (he became aware that he ate 271, and then he mistakenly ate 2217 again) he is 2°°17 two nRvn. ]
9 See the 0" here who prefers the X073 to read naw (instead of N1OR?1). See ‘Appendix’.
10'See footnote # 3.
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And they will drag along with them!! the first 71001 77°%p of naw nasw —

mooIn proves this:
= 9915 1911 4NN DY I YN INR BHYNA 20N 1N Y YION 12711Da N2 9INTD

Like X219 rules shortly; ‘he ate two 7n8 2bym2 257 °n>r and he became

aware of one of them, etc. and then ate a third n°r while still unaware of the second
nt -

=915 PYNIN HY 129 Noan
If he brought a 3399 (after he became aware of all three o°n°1) for the first

N1, ete.’ the first and second >0t are 7931 (since he ate them 71X 0%vma), however he

was not 19301 on the third n°1 (even though it was *1w YW ¥%v172 which was 293n3) -
=199 129 Y9N KD 1919 DININ NYNH PYNRIN DY 1Y Y1137 2) DY GN NNRON

It is evident that even though he first became aware of the first nv,

nevertheless, since he did not set aside a 329 for it, so the first n°1 -
= Bywrdwn DY 1299 29NNNY 27 1Y SYNNNN 999 1N

Is not 9712 the middle (second) nst with the first, so he should be 2917 to

bring a 329p for the third n°7 -
= 159995 199559 SYSNINN DY 1297 N2 NN ON NIN

But rather if he wants he may bring a 1297 on the middle (second) n°r
and he will be forgiven for all three o>n-1.

nvoIN asks:
- 5PN MYIDH PRT NIT 9207 YN XKNYAT TIND ON)

And if you will say; now that it seems that X329 maintains that ‘setting

aside does not separate’ -
- WIPY U210 DAY NNV HY DY MANIN NIV YW MIDITN

' The nxvn for the 771°%p of MaxYn naw will be 771 the 77°¥p of Naw naw, and the nXvn of NAWa APMY
79877 will be 971 the 71w of AW N, since they were all done X O7va.
12 x,xv. The case there is where he first ate two 71X 0vna 251 °n>r (which should require only one 1277), and
then he became aware of one of these two 2711 °*n1 (but not the other), and then he ate a third n°r of 2%n
while he was still unaware of the second n°1. Later he also became aware of these two last 2777 °nr.
13 We do not require him to bring a 727p on the first n°r which he remembered first; in which case the third n>r
would be left out and require a 1277 of its own. We do not require him to do so. See ‘Thinking it over # 1.
14 Therefore the same would be by us in the second case even if 2 ¥7 on the 7P of 781 Naw, we do
not necessarily say that he must bring a 1277 for the 7%p of 79872 naw and only include the v"p of naw
naw, but not the 71°1v of 719X NAw, but rather if he was not w97 until he was Y711 on the 7m0 of 708971 MW,
he can bring one 1277 for the V" of Naw nxw and include within it the v"1p of 79871 N, See ‘Appendix’.
15 The w" established this ruling of X271 in a case where he was w97 a J727p as soon as he became aware of
the first set of naw nawa v™p. Nevertheless we say that when he finds out about the second set of nawa v™p
79871 he does not need to bring a separate 127 for them since Mponn PR MW7 (and 7°XP N3 77°%p).
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Since the v"p of 7o8%% nasw are 273 with the v"p of the naw nax, and

this follows the view of %2'"1 that mwn: are not MpY»mn only M3 are Mponn. '
= NP 71X RIN (x5 mnax) \IINNA NI PIO9 NI 1991 XA

However X279 himself does not rule like 7" in any dispute with *", except
in three places and this is not one of the three.

mooIn responds:
- 1855aN YW 139 N299 RNAYNT UDY 79NN 13529 WIS TINM 1759

But however we can infer from the s'n''9 commentary where he

explained that the ;72%:7 is like 7727 who was the teacher of »ax -
= 20553N 99D 19%91Y ¥1IWN 199 1YNHa9 DT yRYun

It seems that the 17" was 7739 8912 (instead of X271 as we have it), and it also
seems (besides the 11"7) that the X07°3 should be 727 (not X27) since the X713

mentions 727 before 2R -
= 22593N) N29Y N9 RVIVIT NNDIM 9INPT 2191902 199

And similarly shortly where the X 3 states; ‘this issue which was

obvious to 839 and "2, was questioned by X7 27, again X231 is mentioned before

»2R, indicating that it should be 7127 -
= 23010 1312 0NN D972 NHN 5119292 299N NDT 91219 ¥ Na9 12209) 1999N)

And even if we are X297 713, one can say that X271 (when he said the 71357 is
like °"9 against "7) in n2s noon (he) was only discussing cases which are

applicable today, to the exclusion of our case here which involves nxvn *a1n which
are not relevant today.

n1voIN asks:
= N9 IN MPYNN MHYWIDNA 21059 IN 19 NOYNIT 1PY PNY 139299 71990 1N

16 See footnote # 8.
17 In our text it is on X,XV.
18 On x,xv we find that »ax disagrees with the ruling in the second case where 121 naw 171 5w 7XPR v ¥y,
and 2R maintains that one nXvn is sufficient (and includes even the 71w of 7R NAW).
191t was 1271 who said the 7997 regarding 191 77°¥p DM 77°%P (not Xa7).
20 Usually in a dispute between ¥3171 »ax the X1m3 mentions »2aX before X27; but not by a dispute between
7727 (the teacher) and 2R (the pupil) where 7727 is mentioned before »ax.
2R Ry,
22 If we are 1727 07 there is no question, since we do not find that 727 maintains that the 71397 is always like
" (except for three places). 727 can maintain that the 73777 is like 2" in more than three places.
23 821 said the 7397 is like ", meaning that X171 was ruling about issues which are relevant today. There is
no point in discussing whether the 7577 is like ™" or %" regarding issues that were only ¥a1 in the past
when there was a p"»7°2. When the "2 will be rebuilt 13°m°2 797722, we will have sufficient authorities to
inform us what the 75977 is.
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However the "1 is astounded for later?* the X3 queries if 5" >"7 are

arguing whether mpbm» N7 or not; 25 seemingly -
= NIYY Y9195 MPINN MYIDN TaN 2999 M1 INT MY MYI9NAT VIVIN

We can resolve this query that 5" >"1 argue by nmw=s7 (as well), for if

they argue by nw>7° only, but both agree that nw=s77 are nyphnmn -
- 1N 265501 NHIYADN PRT NI $9307 »aN) N2 )3 BN

In that case so X271 »aX who maintain here that nyw=s:1 are not mponn,
whom do they follow, not >"1 and not 5"4?!

NID0IN answers:
= Y9N NIV 19991 NIV INTNIY NIINT 91219 W

And one can say that we can reject the previous assumption (of the w"9)

and assume that we are discussing here a case where he was not 2>e» a
127 -

= MMONDN NNVY DY 0) 1D Y119 1TNY NN 1Y
Until after he became aware of the n1oR>% nasw —

Mmoo responds to an anticipated difficulty:
$NAY NY JY WI9N 9IDATY 913105 913991 NAY MY DY 1Y Y1 VPIT N

And this that he mentions that he became aware of the 7m0 77°%> of
naw nxaw (which implies that he was w97 a 127p);?® this really means to
say, that eventually when he also realized the v"p of max%» naw he set
aside a 127p for naw naw.?

24 1,xy. Initially the X3 cited a nPY9mn between "1 "3 whether (°") Mp?mn MY or not (2"9). X1°21 posed

a query to >wX 27, whether "1 "1 (also) argue whether np%nn NMw937 or not.

25 See footnote # 8.

26 See footnote # 15. We have established our X713 in a case where he was 1277 w97 after he was ¥711 on

the first 7gp. If we maintain Mp2nn MW o there can be no ¥R N7 7¥P, since MpYnn MW7 so he

needs to being another 127 for the other n1aRon. If Mponn nMw1on it is as if he already was 79301 where all

agree that additional n1127p are required for the other 7"y as they become known.

27 When he became aware of the Naw NAw2 71°10Y 771°%R he was not w91 a 2P yet.

28 X217 (and **aR) maintain that Mmp>ma X M9 and certainly Mp>m» PR My, why therefore mention that

he was ¥ on the 77°%p of naw nxaw first. The same rule applies even if he was Y711 on everything at the

same time. Rn>w1 if he was w191 there is a W7n in the first case (naw naw Hw 77%p v y7I) that he can

bring only one 1277, and in the second case (79891 3w 2w 77°%p ¥ ¥7I) he can bring only two n1127p; but

if there was no 1w only 7v>7, he can bring in either case one or two N1127p as he wishes (see [text by]

footnote # 10 & 11), so why mention y711?!

2 See 0"in who explains s'827 two rulings as follows: if he was ¥71 on naw naw first, but was not w»o» a

1297, he can later bring one j27p for all four transgressions (case one); however if he was ¥y first on 77°%p

7oK1 N7 (case two) and was then w™9n a 127p, he can not include the 7891 nAwa 70w in this 127p

v 9nw, but rather it requires a separate 127p. [In the first case the w17°n is that even though he ultimately
5
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Summary
If he was not w»5n a j27p, he can bring either one or two N127p in either

case. If he brought the 1277 he must bring two ni1a17p. If he was w19 after
the first 7v°>7, in the first case he brings only one 1277 and in the second case
two mia1p.

Thinking it over

1. m»doIn states that if he was not w791 any 7279, he is later able to bring
either one or two Mi27p. MdOIN proves this from the other ruling of X327 that
if he wants, he can bring a 1277 on the ‘middle’ one and include the first and
the third n°r of 297.%° Seemingly mooIn could have proven this from the
earlier ruling of X217 where he states that if he brings on the third n1 it
includes the middle n°1; we do not say since he was ¥711 on the first n°1 so the
third n°r cannot be combined with the middle n°1, but rather since he was not
1277 w1971 he can bring on whatever he wishes and include the middle one.*!

2. On the other hand how can we compare our case to the case of *YxXnyi1 n°1
by 2%n. There the >yxnX1 n°t was eaten 2¥12 of the first and third o°n1, so
one 127 is effective for all three. However here once he was ¥y71 on v"p of
MAaRYn naw there is a 210 for two mRwvn, why should a nxvn for naw naw
exempt the existing 21 for MoxHA Naw?!3?

Appendix
It appears from our X773 that in the first case (where he first remembered the

naw nxaw and then remembered the M>oxY» Naw) he has only one option, to
bring one 1279 for the n2w naw and be 77 the NMdXY1 Naw, but he cannot
bring two mi27p for the Mok naw and be 9713 the naw naw. The same in
the second case, where he first remembered the 77°%p of 7oK naw and then
remembered the 7m0 77°%p of 2w naw and the 7mv of 7oX%n nNAaw, he
must bring two N3P, one for the 78R of MaRYM N (and be 773 the v™pP

became aware of v"p of NIR?M N (which normally require two nwvm), nevertheless he can bring one
nxRun for v"p of Naw naw and include all four transgressions. The w17°n of the 850 is that once he was
won, he (can still include v"p of naw naw, but he) has to bring another 127 for 79891 NAWT 7MY, since
we do not say 7”7 77", for X271 disagrees with ax.
30 See footnote 13.
31 See (aw™ mixTaY) X"wAmn.
32 See nnx now.
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of naw naw), and another for the 72°nv of 72X%» Naw, but he cannot bring
one 1277 for the 0" of Naw Naw and be 73 the v" P of MOXYM N (the way
it was in the first scenario).

Later &2 ruled that if one ate two 71X 0%¥n2 2717 °n°r and then was ¥711 on
one N7 only, after which he ate a third ¥%v72 n°1 of the second, he has three
options (once he remembers all three a°n1), a. he could bring a 3277 on the
first which would include the second (since the first and second were eaten
7R 0%yn2), but would require a second 3277 for the third; b. he can bring a
1277 for the third which would include the second (since they were eaten
71X 07v73), but would need a second j27p for the first; or c. he could bring
one 1277 for the second, which would include both the first and the third
(since they were both eaten 1%v172 of the middle one).

The question is why by 2211 does he have the option to bring either one 7277
(for the middle) and include everyone or he can bring two n1127p (one for the
first or third and include the middle, and the other for the remaining
extreme); However here 0"p this option is not available; we say that he must
bring a 727 for the first that he remembers. If he was ¥y71 first on the naw
naw he must bring only one 3277, and if he remembered first the 779R%% naw
he must bring two m127p, why cannot he have the option in both cases to
bring either one or two mi27p.

Mmoo resolves this difficulty by saying that in the X723 here he was w91 a
127p as soon as he became aware (whether it was naw naxw so he needs only
one J27p, or NMOXYM N so ultimately he will need two M127p), however in
the case of 271 he was not w91 any j27p until he became aware of all three
o°n1, therefore he has the option to do as he wishes. Indeed in our case as
well if he was not w>15» a 272 until he was aware of the v"p of N2W namw
and the v"p of 119R%1 NAaw, he has the option of choosing to either bring one
127p (for Naw naaw) or two M1 (for 7oXRM NAWY).
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